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QUESTION 1

Which three are use cases for data maps? (Choose three.)

A. To allow users to drill back to the data in a different cube.

B. To integrate data between custom plan types and Planning modules
C. To integrate data between Planning modules

D. To push data from a planning cube to a reporting cube

E. To create a replicated partition between cubes

Correct Answer: ABC

QUESTION 2

In porting data from a BSO plan type to an ASO plan type, which method cannot be utilized? Choose the best answer.
A. Smart Push

B. Data Maps

C. XWRITE business rule

D. Export/Import Capabilities

Correct Answer: C

Reference: https://docs.oracle.com/cd/E57185_01/AGOHP/ch10s03s09s02.html

QUESTION 3

After loading Workforce data from external systems, which statement describes actions you can take to make
adjustments to loaded data and then calculate compensation expenses? Choose the best answer.

A. In Workforce, change properties such as salary grade and FTE, and then calculate salary, benefits, additional
earnings, and taxes based on assumptions in Planning.

B. Change loaded salary information in Workforce and then run the data map for Compensation Data to calculate the
updated benefits.

C. Change loaded benefit information in Workforce such as options for medical benefits and then launch the
compensation data business rule to calculate the updated benefit data.

D. In Workforce, if you change both the selected benefit option and the rate, when compensation expenses are
calculated, the value will be based on the benefit option\\'s default value.

Correct Answer: D
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QUESTION 4
Which statement describes infolets? Choose the best answer.
A. Infolets help you personalize focused data slices that you frequently use for analysis.

B. Infolets help you quickly analyze data and understand key business questions by presenting a visual overview of high-
level, aggregated information.

C. Infolets are predefined dashboards that give you insight into overall project financials and expense and revenue
metrics.

D. Infolets help you organize, track, and prioritize your workload.
Correct Answer: B

Reference: https://docs.oracle.com/en/cloud/saas/planning-budgeting-cloud/pfusu/EPM-
INFORMATIONDEVELOPMENT-TEAM-E94218-6693400D.pdf (page: 8-1)

QUESTION 5

Which two client requirements align with using an ASO plan type alongside the module-based plan types? (Choose
two.)

A. The client would like to plan revenue by Product and Services dimensions.
B. The client would like to report the results of the allocation process by Entity.

C. The client would like to store 10 years of actuals history for reporting purposes but only requires prior year history for
planning purposes.

D. Due to sparse dimensionality, aggregation times are slow in the application.
E. The client has 10 dimensions in the application and needs to report at each intersection.
Correct Answer: DE

Reference: https://www.oracle.com/webfolder/technetwork/tutorials/obe/hyp/CreateASOReportingCubel1112/CreateASO
ReportingCube-1112.htm
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